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Y=-1189951.1302
X=-663764.3802

Y=-1189961.1167
X=-663758.1575

Y=-1189963.1114
X=-663750.2413

Y=-1189972.9452
X=-663746.0567

Y=-1189972.0645
X=-663758.2241
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Souř. systém: S-JTSK Výšk. systém: BPV

OBJEDNATEL:

KRAJ:

OBEC:

K.Ú.:

OBSAH:

MĚŘÍTKO:

DATUM:

Č. ZAKÁZKY:

PROJEKTANT:

AUTOR. INŽENÝR:

VED. PROJEKTANT:

AKCE:

PŘÍLOHA; PARÉ:

1:500

ŠAFOV

ŠAFOV

ZNOJMO

SPÚ, KPÚ PRO JIHOMOR. KRAJ, POBOČKA ZNOJMO

PARÉ:

V K.Ú. ŠAFOV
REVITALIZACE HOZ ODPAD 03 

11/2022

C.5

OBJEKT:

STUPEŇ: DSP A DPS

SO-01, SO-02

S

VYTYČOVACÍ VÝKRES


